Math 1A (9:30am - 10:20am) What month is your birthday ?

Quiz 4 What are the first 2 digits of your address ? e

Fri Feb 6, 2009 What are the last 2 digits of your zip code ? e e
What are the last 2 digits of your social security number ? e

SCORE: ___ /20 POINTS [IF YOU DO NOT HAVE A SOCIAL SECURITY NUMBER,

USE YOUR STUDENT ID NUMBER]

NO CALCULATORS ALLOWED

State the definition of the derivative of a function at a point. SCORE: __ /2 POINTS
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using the definition of the derivative. SCORE: /5 POINTS

X
Find the derivative of f(x) = ]

NOTE: You will receive 0 points if you use the differentiation shortcuts (power rule, product rule, quotient rule, chain rule ete.

X+ N X

./ T ST S, s
’?C"*’) ﬁ_ﬂl;w(‘:\) - 2 PoINTS

e e (x+- Y —2x ) — X ({jjflx—-’lh)
W0 h (= 22— 20— 2%

] oy K= 22500 h — 2N — 2K 2R
WG v TOCREYE G e

1\

.4 PO!M’FT\_:'.—_ ( ‘
&EE (—2x-2h)(-2>) ) ((F%Qzl | POINT

13 47 23 41

]  — b — [c] i

4 4
LETTER OF CORRECTANSWER: [ ] |5 S(t)= Ctg + 4t) 1—{1 ; al) >: {‘f.'f

+e@00000®0000000000000®0000000®000000®0000000000000©000000@@e-:

The limit lim equals f'(a) for some function f(x) and some constant @ . Find f(x) and a. SCORE: ___ /2 POINTS
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CONTINUED ON OTHER SIDE
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If g(x)=x"f(x) and f(=1)=3 and f'(-1) =35, find g:(—l). N SCORE: __ /2 POINTS
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Find the derivatives of the following functions. Do NOT simplify your answers. SCORE: __ /7 POINTS
2 1 3x* +2x -5
v =( -1 fF ] s- R
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[YOU MAY USE THE SHORTCUT YOU FOUND IN
YOUR HOMEWORK]
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[1 BONUS POINT] Simplify #'(x) in part [b] of the previous question.
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